
SEITE 1 VON 34

MONTAGEINSTRUKTIONEN

N634P197356W & N634P197359W 
N634P197361W   &   N634P197364W



EN 747-1 & 2 : 2024  

SEITE 2  VON 34



SEITE 3 VON 34

Detailansicht

27

28

29

30

30

18

18

18

33

33

34

35

35

3536

36

37

38

39



SEITE 4  VON 34

detailansicht

26 x16

1

2

3

4

5

5

6

6

8
8

9

9

10
11
11

12

12

12

13

14
15
1516

17

7

19

20

20

21

21

10

10

59

31

2223

24
25

32
26 x16



SEITE 5   VON 34

detailansicht

4041
42

43

43

44

44

45

45

46 46

464646

47

47
48

49
49

50

51

52

52

53

54

56

55 57
58

58

58



SEITE 6  VON 34

1pc39

36

37 1pc38

35

1pc34

1pc

2pcs

3pcs

1pc17

TEILELIST 

N634P197356W

26 32pcs

N634P197361W

16

2pc49

51

1pc57

50

3pcs58

1pc

1pc 

1pc

55 1pc1pc

1pc 53 1pc 56

54

0 

2pcs52



SEITE 7  VON 34

1pc

1pc

1pc

1pc

1pc

1pc

1pc

1pc

N634P1973N634P197359WW

1pc4

27

1 1pc2

40

1pc

1pc

1pcpc

1pc

1pc12 42

32

15 2pcs

1pc

2pcs

3pcpcss

1pc

1pc

13

3pcspcs

11

1pcpc

25

14

10

43

1pc41 19

行」 歹行」 歹

22pcspcs

31

22

29

2pcs1pc

2pcs

45

2pcs

1pc48

47

7

30

11pcpc

11pcpc

11pcpc

11pcpc

28



5 6

8

2pcs

1pc

2pcs

N634P197364W

2pcs

9 2pcs

3 59 1pc

44 2pcs

2pcs

2pcs21

20 23

24 1pc

1pc

46 5pcs

33 2pcs 18 3pcs

SEITE 8  VON 34



List der Hardware （N634P197359W）

MONTAGEANLEITUNGEN

123*12L

M6*60I 26

M6*100E 28

F 60Φ7*50

G 15Φ7*90

924*30H

D 85Φ8*30

M6*70

C 70

A 16

M6*30B 13

N 19M6*20

M6*25M 6

J 3

K 3

N 19M6*20

114*20O

1P

1Q 4 mm

SEITE 9  VON 34



SEITE 10  VON 34

Schritt 1

MONTAGEANLEITUNGEN

F 85Φ8*30

x2

x2

x2

x2

x5

x2

x2

x3

x2

x2

x2

x2

D
DD

D

D

D

DD
D

D
D

D
D

D
D

D
D

D

D

D
D

D

D

D

D

DD

DD

DD

D D

DD
D

D

D D

DD
DD

D



SEITE 11 VON 34

Schritt 2

MONTAGEANLEITUNGEN

1Q
4 mm

M6*70

C 16

A 16

A

A A

A

A

A
A
A

A

A

A

A

A

A

A

A

N 6M6*20

M6*30B 6

B

B

BD

D

D



SEITE 12  VON 34

Schritt 3

MONTAGEANLEITUNGEN

1Q
4 mm

M6*100

C 24

E 24<

N 6M6*20

M6*30B 6

E
E

E
E

E

E

E

E

E
E

E
E
E
E

E
E

E
E

E
E

E
E

E
E

C
C

C
C

C
C

C
C

C
C
C

C

C

C
C
C

C
C

C
CC

C

C
C D

D

D

D

D

D

B
B

B

B
B

B



SEITE 13  VON 34

Schritt 4

MONTAGEANLEITUNGEN

44*30H

H
H H

H

1P



SEITE 14 VON 34

Schritt 5

MONTAGEANLEITUNGEN

1Q
4 mm

M6*60

C 12

I 12

I

I

I

I

I

I

I

I

I

I

I

I

C

C
C

C

C

C

C

C

C

C

C

C



SEITE 15 VON 34

MONTAGEANLEITUNGEN

1Q
4 mm

Schritt 6

M6*60

C 8

I 8

I
I

I
I

I
I

I
I

C

C

C

C

C
C

C

C



SEITE 16 VON 34

Schritt 7

MONTAGEANLEITUNGEN

1Q 4mm

24*30H

H
H

M6*100

C 6

E 4<

E
E

E

E

M6*60I 2

I
I

C

C

CCCC

1P



Schritt 8

SEITE 17 VON 34

MONTAGEANLEITUNGEN

1Q 4 mm

F 16Φ7*50

F

F
F

F
F

F
F

F
F

FF

FF

F F

F



Schritt 9

SEITE 18 VON 34

MONTAGEANLEITUNGEN

F 4Φ7*50

F
F

F
F

1Q 4 mm



SEITE 19 VON 34

Schritt 10

MONTAGEANLEITUNGEN

F 1Φ7*50

G 4Φ7*90

1Q 4 mm

G

G

G

G

F



SEITE 20  VON 34

Schritt 11

MONTAGEANLEITUNGEN

C 4

M6*60I 4

J 1

K 11510

1Q 4 mm

I
I

I
I

J

K

C
C

C
C

J

J

K

P

P

1P

I
I

I
I

J

K

C
C

C
C



SEITE 21 VON 34

Schritt 12

MONTAGEANLEITUNGEN

44*30H

H
H

H
H

1P



SEITE 22 VON 34

Schritt 13

MONTAGEANLEITUNGEN

1Q
4 mm

G 10Φ7*90

G

G

G

G

G

G

G

G

G

G

59



SEITE 23 VON 34

Schritt 14

MONTAGEANLEITUNGEN

1Q
4 mm

F

10Φ7*50F

F

F
F

F

F
F

F

F
F



SEITE 24 VON 34

Schritt 15

MONTAGEANLEITUNGEN

1Q
4 mm

F 13Φ7*50

F
F

F
F

F

F

F

F
F

F

F
F

F



SEITE 25 VON 34

Schritt 16

MONTAGEANLEITUNGEN

1Q
4 mm

F 13Φ7*50

F

F
F

F

F
F

F
F

F
F

F

F

F



SEITE 26 VON 34

Schritt 17

MONTAGEANLEITUNGEN

44*30H

H

H

H

H

H

H

H

H

1P



SEITE 27 VON 34

Schritt 18

MONTAGEANLEITUNGEN

F 3Φ7*50

F

F

F

G 1Φ7*90

G

J 2

K 21510

J

J

K

K

1Q
4 mm

J

J

K

P

P

1P



SEITE 28   VON 34

Schritt 19

MONTAGEANLEITUNGEN

1Q
4 mm

N 7M6*20

M6*30B 1

M6*25M 6

B

N

N
N

N

N

N

M

M
M

M

M

M

N

B

N

N N

N

N

M

M
M

M

M

M

N



SEITE 29 VON 34

MONTAGEANLEITUNGEN

L
L

L
L

L
LL

L
LL

L
L

123*12L

Schritt 20

1P



SEITE 30 VON 34

Schritt 21

MONTAGEANLEITUNGEN

44*30H

H H H

H

1P



SEITE 31 VON 34

Schritt 22

MONTAGEANLEITUNGEN

104*30H

H
H

H
H

H
H
H
H

H

H

1P



SEITE 32 VON 34

Schritt 23

MONTAGEANLEITUNGEN

114*20O

O
O

O

OOO

O
OO

O
O

1P



SEITE 33 VON 34

Schritt 24

MONTAGEANLEITUNGEN

644*30H

H

H

H

H
H

H

H

H

H

H

H

H

H

H

H

H

H

H

H

H

H

H

H

H

H

H

H

H

H

H

H

H

H

H

H

H

H

H

H

H

H

H

H

H

H

H

H

H

H

H

H

1P



SEITE 34 VON 34

MONTAGEANLEITUNGEN

IMPORTANT — READ CAREFULLY — RETAIN FOR FUTURE REFERENCE

• WARNING "The upper bed is not suitable for children under six years due
to the risk of injury from falls";

• WARNING "This bed is not suitable for children under six years due to
the risk of injury from falls";

• WARNING "Bunk beds / high beds can present a serious risk of injury
from strangulation if not used correctly. Never attach or hang items to
any part of the bunk bed / high bed that are not designed to be used
with the bed, for example, but not limited to ropes, strings, cords, hooks,
belts and bags";

• WARNING "Children can become trapped between the bed and the wall,
a roof pitch, the ceiling, adjoining pieces of furniture (e.g. cupboards)
and the like. To avoid risk of serious injury the distance between the top
safety barrier and the adjoining structure must not exceed 75 mm or
must be more than 230 mm";

• WARNING "Do not use this bunk bed / high bed if any structural part is
broken or missing";

• WARNING "Always ensure the platform and the ladder / stairs are
permanently attached to this bunk bed before use"


	WF324516-17-18-19_AI-1
	Sheets and Views
	Model


	FILE CANH BAO WW
	WF324516-17-18-19_AI-2
	Sheets and Views
	Model


	WF324516-17-18-19_AI-3
	Sheets and Views
	Model


	WF324516-17-18-19_AI-4
	Sheets and Views
	Model


	WF324516-17-18-19_AI-5
	Sheets and Views
	Model


	WF324516-17-18-19_AI-6
	Sheets and Views
	Model


	WF324516-17-18-19_AI-7
	Sheets and Views
	Model


	WF324516-17-18-19_AI-8
	Sheets and Views
	Model


	WF324516-17-18-19_AI-9
	Sheets and Views
	Model


	WF324516-17-18-19_AI-10
	Sheets and Views
	Model


	WF324516-17-18-19_AI-11
	Sheets and Views
	Model


	WF324516-17-18-19_AI-12
	Sheets and Views
	Model


	WF324516-17-18-19_AI-13
	Sheets and Views
	Model


	WF324516-17-18-19_AI-14
	Sheets and Views
	Model


	WF324516-17-18-19_AI-15
	Sheets and Views
	Model


	WF324516-17-18-19_AI-16
	Sheets and Views
	Model


	WF324516-17-18-19_AI-17
	Sheets and Views
	Model


	WF324516-17-18-19_AI-18
	Sheets and Views
	Model


	WF324516-17-18-19_AI-19
	Sheets and Views
	Model


	WF324516-17-18-19_AI-20
	Sheets and Views
	Model


	WF324516-17-18-19_AI-21
	Sheets and Views
	Model


	WF324516-17-18-19_AI-22
	Sheets and Views
	Model


	WF324516-17-18-19_AI-23
	Sheets and Views
	Model


	WF324516-17-18-19_AI-24
	Sheets and Views
	Model


	空白页面
	空白页面
	空白页面
	空白页面
	空白页面
	空白页面
	空白页面
	空白页面
	空白页面
	空白页面
	空白页面
	空白页面



